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Pushplata Scholarship Scheme

Qualifying Examination Time: - 2 Hrs
Admission Year —(2021-22)

Name of Applicant: - Rliaf. TN
Ros W d (28
Father’s Name: - ..\.>2\ Tea\s. Mohammaec (/,i% )
c )
Branch (to be opted):- ...C.2... Y

Note:- Attempt all Questions. Each question is of 1 mark.

im0 tan x
~ Ql. Valueof log(1+x) i
NE g (b)0 (c) does not exist (d) none of these B

Iin . 2
Qz. Iy =%¥% 1+X" then the value of (1+x2)y2+xyl is

ayn2y (b) ny2 (c )n2y2 (d) none of these =~
Q3.1 X HYT=S then at
s & A Y
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&
Q4. If sin (x+y) = log (x+y) then dx is .
-

(a)2 (b)-2 (c)1 - (d)-1-
5. The probability that the 13th day of a randomly chosen month is second Saturday is

1 1 1 19
(a) 7 (b) 12 -4 (d) 84
6. A single latter is chosen random from the word PROBABILITY. The probability that the word is a vowel is
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7. A boat can travel with a speed of 13 kmv/hr in still water. If the speed of the stream is 4 km/hr, find the time taken
by the boat to go 68 km downstream.

(a) 2 (b)3 (o4 s &
8. A clock is started at noon. By 10 minutes past 5, the hour hand has turned through:  (a) 145° (b) 150° (c)
155" (q) 160 - L
9.1n one hour, a boat goes 11 km/hr along the stream and 5 km/hr against the stream. The speed of the boat in still
water (in km/hr) is:

@3 (b)8 (©)5 d9
10. Which of the following is statement —

(a) Mathematics -is easy (b) come here (c)all real no are complex no. (d) he is an engineer.

11.A ball moves in a frictionless inclined table without slipping. The work done by the table surface on the ball is

.

(a) Negative (b) Zero (c) Positive (d) None of the options (-
12.The potential energy of a system increases if work is done
(a) upon the system by a non-conservative force (b)-by the system against a conservative force s
(c) by the system against a non-conservative force (d) upon the system by a conservative force
13.If a light body and heavy body have same kinetic energy, then which one has greater linear momentum?
(a) Lighter body «(b)yHeavier body (¢) Both have same momentum (d) Can’t be predicted ~
14.A light and a heavy body have equal momentum. Which one has greater K.E.?

«(a)'The lighter body ~ (b) The heavier body (c) Both have equal K.E. (d) Dat; given is incomplete
15.Unit of energy is

(a) kwh (b) joule (c) electron volt (d)1l of the above

16.Which of the following is not a conservative force?

(a) Gravitational force @/FTictional force (c) Spring force (d) None of these
17.The speed of an object of mass m dropped from an inclined plane (frictionless), at the bottom of the W

plane, depends on:

\(})/héight of the plane above the ground (b) angle of inclination of the plane
(c) mass of the object (d) All of these

18.A body projected vertically from the earth reaches a height equal to earth's radius before returning to the earth.
The power exerted by the gravitational force is greatest

\@/a/f the instant just before the body hits the earth (b) at the highest position of the body



Y

“* (c) it remains constant all through (d) at the instant just after the body is projected.

19.If two particles are brought near one another, the potential energy of the system will
(elquease (b)decrease (c) remains the same (d) equal to the K.E.

20.When two spheres of equal masses undergo perfect inelastic collision with one of them at rest, after collision
they will move

(a) opposite to one another (b) in the same direction (c)together  (d) at right angle to each other"
21. What is the term for a liquid dispersion in another liquid?
«a)Emulsion b) Aerosol
c) Gel d) Foam
22. More than one sort of hybridization can occur in a complex with geometry.
a) tetrahedral \ b)-ectahedral
¢) trigonal bipyramidal d) square planar -

23. Determine the proper name for K2[PdCl4].
a) Potassium tetrachlorinepalladium(II)

. b) Potassium tetrachloridopalladate(II)Potassium

c¢) Potassium tetrachloridopalladium(II)
d) tetrachlorinepalladate(II)
24. Which substance is used to determine the hardness of water using a simple titration?

a) Mg(EDTA) b) Fe(EDTA)
Na2(EDTA) d) Co(EDTA)
25 The core atom of which of the following biologically significant coordination molecules is magnesium?
a) Vitamin B12 by Haemoglobin 4
c) Chlorophyll d) Carboxypeptidase-A
26. What form does nitrogen take in plants’
a) Ammonia b) Amide
_C)yNitrate d) Nitrite
27. What happens to the size of atoms in p-block elements when we move from left to right in the same period”
a) Size does not change b) Size increases then decreases
c) Size increases d) Size decreases ~—
28. When ammonia is oxidized to form nitric acid, what catalyst is used?
a)-Platinum-Rhodium gauze b) Vanadium (V) oxide
c) Palladium hydride d) Sodium amalgam
29. Which of the following compounds has an oxidation state of +5 phosphorus? ,
a) Peroxodiphosphoric acid b) Hypophosphorous acid j ) <}
¢) Orthophosphorous acid  d)Hypophosphoric acid ™~ /I
30. Why is nitrogen preferred in the welding and cooling of materials? \’\R\/
tis an inert gas b) It is non-toKic ' -
¢) It’s a gas and can easily be handled ﬁ H @ﬁ\:xtremely low freezing point o i
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Note:- Attempt all Questions. Each question is of 1 mark.
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7. A boat can travel with a speed of 13 km/hr in still water. If the speed of the stream is 4 km/hr, find the time taken
by the boat to go 68 km downstream.

(a) 2 (b)3 }9’4 )5 g

8. A clock is started at noon. By 10 minutes past 5, the hour hand has turned through: (a) 145° (b) 150° ._9
155" (g) 160° o

9. In one hour, a boat goes 11 km/hr along the stream and 5 km/hr against the stream. The speed of the boat in still
water (in km/hr) is:

(a) 3 @78 ©5 @9
10. Which of the following is statement —

(a) Mathematics is easy (b) come here (e)4ll real no are complex no. (d) he is an engineer. .
11.A ball moves in a frictionless inclined table without slipping. The work done by the table surface on the ball is

(a) Negative (b) Zero (ﬁ/Positive (d) None of the options . -
12.The potential energy of a system increases if work is done

(a) upon the system by a non-conservative force J]))’by the system against a conservative force

(c) by the system against a non-conservative force (d) upon the system by a conservative force

13.If a light body and heavy body have same kinetic energy, then which one has greater linear momentum? /u
(a) Lighter body y{eavier body (c) Both have same momentum (d) Can’t be predicted o

14.A light and a heavy body have equal momentum. Which one has greater K.E.?
(a¥The lighter body ~ (b) The heavier body (c) Both have equal K.E. (d) Data given is i;&émplete
15.Unit of energy is

(a) kwh (b) joule (c) electron volt _(dYAll of the above b

16.Which of the following is not a conservative force? )

(a) Gravitational force _(byFrictional force (c) Spring force - ‘(d) None of these

17.The speed of an object of mass m dropped from an inclined plane (frictionless), at the bottom of the

plane, depends on: 4 <
(})’height of the plane above the ground (b) angle of inclination of the plane -

(c) mass of the object (d) All of these

18.A body projected vertically from the earth reaches a height equal to earth's radius before returning to the earth.
The power exerted by the gravitational force is greatest

(}a/at the instant just before the body hits the earth (b) at the highest position of the body
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(c) it remains constant all through (d) at the instant just after the body is projected.

19.If two particles are brought near one another, the potential energy of the system will

L

\/(aa’increase (b)decrease (c) remains the same (d) equal to the K.E.

20.When two spheres of equal masses undergo perfect inelastic collision with one of them at rest, after collision
they will move -

f =

(a) opposite to one another (b) in the same direction Mgether (d) at right angle to each other
21. What is the term for a liquid dispersion in another liquid? ,
_ayEmulsion b) Aerosol
c) Gel d) Foam
22. More than one sort of hybridization can occur in a complex with geometry.
a) tetrahedral _bY octahedral e
¢) trigonal bipyramidal d) square planar

23. Determine the proper name for K2[PdCl4].

a) Potassium tetrachlorinepalladium(II)

_b) Potassium tetrachloridopalladate(IT)Potassium =

c¢) Potassium tetrachloridopalladium(II)

d) tetrachlorinepalladate(II) .

24. Which substance is used to determine the hardness of water using a simple titration?

a) Mg(EDTA) b) Fe(EDTA) =
a2(EDTA) d) Co(EDTA)

25. The core atom of which of the following biologically significant coordination molecules is magnesium?

a) Vitamin B12 b) Haemoglobin s
.})«Chlorophyll d) Carboxypeptidase-A

26. What form does nitrogen take in plants?

ay Ammonia b) Amide
_C)Nitrate d) Nitrite

27. What happens to the size of atoms in p-block elements when we move from left to right in the same period!

a) Size does not change b) Size increases then decreases

c) Size increases _d)Size decreases

28. When ammonia is oxidized to form nitric acid, what catalyst is used?

latinum-Rhodium gauze b) Vanadium (V) oxide

¢) Palladium hydride d) Sodium amalgam

29. Which of the following compounds has an oxidation state of +5 phosphorus?
/aXPeroxodiphosphoric acid b) Hypophosphorous acid

¢) Orthophosphorous acid d) Hypophosphoric acid

30. Why is nitrogen preferred in the welding and cooling of materials? 3

a) It is an inert gas _bY1t is nongtoxic [ Za

¢) It’s a gas and can easily be handled '%@jﬁt \extremely low freezingq)/int . J ﬁ
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7. A boat can travel with a speed of 13 km/hr in still water. If the speed of the stream is 4 km/hr, find the time taken
by the boat to go 68 km downstream.

@2  ®3 _Jr @5

8. A clock is started at noon. By 10 minutes past 5, the hour hand has turned through: (a) 145 (b) 150“\/(6{
155" (g 160’ ot

9. In one hour, a boat goes 11 km/hr along the stream and 5 km/hr against the stream. The speed of the boat in still
water (in km/hr) is:

(a) 3 B8 (©5 @9 -

10. Which of the following is statement —

(a) Mathematics is easy (b) come here (c real no are complex no. (d) he is an engineer. .

11.A ball moves in a frictionless inclined table without slipping. The work done by the table surface on the ball is

(a) Negative M (c) Positive (d) None of the options

12.The potential energy of a system increases if work is done

\

(a) upon the system by a non-conservative force Mhe system against a conservative force/ P

(c) by the system against a non-conservative force (d) upon the system by a conservative force

13.If a light body and heavy body have same kinetic energy, then which one has greater linear momentum?
(a) Lighter body \@Hé’vier body (c) Both have same momentum (d) Can’t be predicted-

14.A light and a heavy body have equal momentum. Which one has greater K.E.?

b
\/%ﬁhe lighter body  (b) The heavier body (c) Both have equal K.E. (d) Data given is incomplete

15.Unit of energy is
(a) kwh (b) joule (c) electron volt M] of the above

16.Which of the following is not a conservative force?

—

(a) Gravitational force Mtional force (c) Spring force (d) None of these \_

17.The speed of an object of mass m dropped from an inclined plane (frictionless), at the bottom of the
plane, depends on:

£
eight of the plane above the ground (b) angle of inclination of the plane

(c) mass of the object (d) All of these

18.A body projected vertically from the earth reaches a height equal to earth's radius before returning to the earth.
The power exerted by the gravitational force is greatest ,

N

M instant just before the body hits the earth (b) at the highest position of the body
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yy is nitrogen preferred in the welding and cooling of materigls? i )
t is an inert gas b) Itis nopgoxic . \ po—
¢) It’s a gas and can easily be handled ' &? extremely low freezing pot ade nics

(c) it remains constant all through (d) at the instant just after the body is projected.

19.If two particles are brought near one another, the potential energy of the system will

yzi’hcrease (b)decrease (c) remains the same (d) equal to the K.E.

20.When two spheres of equal masses undergo perfect inelastic collision with one of them at rest, after collision
they will move

(a) opposite to one another (b) in the same direction k_/(,p)*t@ﬁther (d) at right angle to each other

r\/1_What is the term for a liquid dispersion in another liquid?
a)

Emulsion b) Aerosol
c) Gel d) Foam
22. More than one sort of hybridization can occur in a complex with geometry.
a) tetrahedral octahedral Bl ™
¢) trigonal bipyramidal d) square planar

23. Determine the proper name for K2[PdCl4].
a) Potassium tetrachlorinepalladium(II)
Potassium tetrachloridopalladate(IT)Potassium

¢) Potassium tetrachloridopalladium(II)
d) tetrachlorinepalladate(IT)
24. Which substance is used to determine the hardness of water using a simple titration?
a) Mg(EDTA) b) Fe(EDTA) -
\x)’ﬁfz(-(l;‘EDTA) d) Co(EDTA)
25. The core atom of which of the following biologically significant coordination molecules is magnesium?
a) Vitamin B12 b) Haemoglobin h i)
) Chlorophyll : d) Carboxypeptidase-A
26. What form does nitrogen take in plants? i
a) Ammonia b) Amide _ ‘
itrate d) Nitrite " |
27. What happens to the size of atoms in p-block elements when we move from left to right in the same period !
a) Size does not change b) Size increases then decreases
c) Size increases \_~a) Size decreases S
28. When ammonia is oxidized to form nitric acid, what catalyst is used?
\/d)él&:l,tinum-Rhodium gauze b) Vanadium (V) oxide 7
c¢) Palladium hydride d) Sodium amalgam
29. Which of the following compounds has an oxidation state of +5 phosphorus? B
eroxodiphosphoric acid b) Hypophosphorous acid  ~___~

¢) Orthophosphorous acid d) Hypophosphoric acid 3
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7. A boat can travel with a speed of 13 km/hr in still water. If the speed of the stream is 4 km/hr, find the time taken
by the boat to go 68 km downstream. v

(a) 2 (b)3 \.374/' @@s ;

\/?clock is started at noon. By 10 minutes past 5, the hour hand has turned through:  (a) 145° (b) 150° (c)
5 (d) 160° N

oG
9. In one hour, a boat goes 11 km/hr along the stream and 5 km/hr against the stream. The speed of the boat in still
water (in km/hr) is:

(a) 3 bys ©5 @9

10. Which of the following is statement —

(a) Mathematics .is easy (b) come here (g}/cﬂéal no are complex no. (d) he is an engineer. .~
11.A ball moves in a frictionless inclined table without slipping. The work done by the table surface on the ball is

(a) Negative Wé& (c) Positive (d) None of the options\k
12.The potential energy of a system increases if work is done
(a) upon the system by a non-conservative force M{: system against a conservative force
(c) by the system against a non-conservative force (d) upon the system by a conservative force
<

13.If a light body and heavy body have same kinetic energy, then which one has greater linear momentum?

7

(a) Lighter body \_Lb)’ﬁ::avier body (c) Both have same momentum (d) Can’t be predi\f:fé)d
14.A light and a heavy body have equal momentum. Which one has greater K.E.?
\Jp}’l{é lighter body  (b) The heavier body (c) Both have equal K.E. (d) Data given is incomplete

—

15.Unit of energy is

(a) kwh (b) joule (c) electron voit \_Ld,)/fﬁ;f the above ’

16.Which of the following is not a conservative force?

(a) Gravitational force \@)/Fﬁctiona] force (c) Spring force (d) None of these s )

17.The speed of an object of mass m dropped from an inclined plane (frictionless), at the bottom of the
plane, depends on:

\)ﬂ_}«l@lght of the plane above the ground (b) angle of inclination of the plane
(c) mass of the object (d) All of these

18.A body projected vertically from the earth reaches a height equal to earth's radius before returning to the earth.
The powgr exerted by the gravitational force is greatest
\_(.:14 instant just before the body hits the earth (b) at the highest position of the body
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a) Mg(EDTA) b) Fe(EDTA) N~

a2(EDTA) d) Co(EDTA)
25. The core atom of which of the following biologically significant coordination molecules is magnesium?
a) Vitamin B12 b) Haemoglobin A
c¢) Chlorophyll : n__d)Earboxypeptidase-A 3
26. What form does nitrogen take in plants?
a) Ammonia b) Amide |

itrate d) Nitrite
27. What happens to the size of atoms in p-block elements when we move from left to right in the same period”
a) Size does not change b) Size increases then decreases
c¢) Size increases Size decreases —
28. When ammonia is oxidized to form nitric acid, what catalyst is used?

\,a)’%tinum-Rhodium gauze b) Vanadium (V) oxide *_
c) Palladium hydride d) Sodium amalgam
29. Which of the following compounds has an oxidation state of +5 phosphorus? ;
Peroxodiphosphoric acid b) Hypophosphorous acid

¢) Orthophosphorous acid d) Hypophosphoric acid

. (©) it remains constant all through (d) at the instant just after the body is projected.

19.If two particles are brought near one another, the potential energy of the system will

\WSC (b)decrease (c) remains the same (d) equal to the K.E.

20.When two spheres of equal masses undergo perfect inelastic collision with one of them at rest, after collision

they will move : B

(a) opposite to one another (b) in the same direction \_,(,Q*to/gether (d) at right angle to each other

21. What is the term for a liquid dispersion in another liquid?
mulsion b) Aerosol
c) Gel d) Foam
22. More than one sort of hybridization can occur in a complex with geometry, .
a) tetrahedral \_,b»)%alhedra] N
c) trigonal bipyramidal d) square planar

23. Determine the proper name for K2[PdCl4].

\j)))?@ssitlm tetrachlorinepalladium(II) , W
otassium tetrachloridopalladate(II)Potassium |

¢) Potassium tetrachloridopalladium(II)
d) tetrachlorinepalladate(II)
24. Which substance is used to determine the hardness of water using a simple titration?

\;j()/\k“h'y is nitrogen preferred in the welding and cooling of materials?
|

t is an inert gas b) It is nonétomc
¢) It’s a gas and can easily be handled d) It ha@@%xtremely low freezu\%m t
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Note:- Attempt all Questions. Each question is of 1 mark.

lim tan x

>0
Q1. Value of log(1+x) i
-
/(a)/l (b) 0 (c) does not exist (d) none of these
W _ 2
Q2.1f Y " =x+V1+X" hen the value of (14x2)y2+xyl is
LS
My (b) ny2 (c )n2y2 (d) none of these
Q3.1f XY™ =5 then at .
L] )4 & & e
(a) x=0,y=0, dr=0  (b)x=0,y=1, &=0  (»1,y=1, dx =1 (d) x=1,y=0, =1
&
Q4. If sin (x+y) = log (x+y) then dx is
(a)2 (b)-2 ©1 @
5. The probability that the 13th day of a randomly chosen month is second Saturday is
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7. A boat can travel with a speed of 13 km/hr in still water. If the speed of the stream is 4 km/hr, find the time taken
by the boat to go 68 km downstream.

(a) 2 (b) 3 /(2{4 s
8. A clock is started at noon. By 10 minutes past 5, the hour hand has turned through: (a) 145° (b) 150° (c)
155° Mso' v,

9. In one hour, a boat goes 11 km/hr along the stream and 5 km/hr against the stream. The speed of the boat in still
water (in km/hr) is:

(a) 3 prs ©5 @9

10. Which of the following is statement —

(a) Mathematics is easy (b) come here ‘a(ylfl real no are complex no. (d) he is an engineer. ‘k. ’

11.A ball moves in a frictionless inclined table without slipping. The work done by the table surface on the ball is

k.

(a) Negative }b)rZero (c) Positive (d) None of the options

12.The potential energy of a system increases if work is done

(a) upon the system by a non-conservative force Q}By the system against a conservative force “-—
(c) by the system against a non-conservative force (d) upon the system by a conservative force

13.If a light body and heavy body have same kinetic energy, then which one has greater linear momentum? o

T

(a) Lighter body }bﬁ‘Heavier body (c) Both have same momentum (d) Can’t be predicted

14.A light and a heavy body have equal momentum. Which one has greater K.E.? f

})fT he lighter body  (b) The heavier bedy (c) Both have equal K.E. (d) Data given is incomplete
15.Unit of energy is
(a) kwh (b) joule (c) electron volt (d)-All of the above

16.Which of the following is not a conservative force?
& o

(a) Gravitational force C(/b}Frictional force (c) Spring force (d) None of these

17.The speed of an object of mass m dropped from an inclined plane (frictionless), at the bottom of the

plane, depends on: <
E ke /

(})’héight of the plane above the ground (b) angle of inclination of the plane

(c) mass of the objeét (d) All of these

18.A body projected vertically from the earth reaches a height equal to earth's radius before returning to the earth.
The power exerted by the gravitational force is greatest

()4t the instant just before the body hits the earth (b) at the highest position of the body | '



(c) it remains constant all through (d) at the instant just after the body is projected.

19.If two particles are brought near one another, the potential energy of the system will

-
S})’mcrease (b)decrease (c) remains the same (d) equal to the K.E.

20.When two spheres of equal masses undergo perfect inelastic collision with one of them at rest, after collision
they will move

—

(a) opposite to one another (b) in the same direction }g;/tfogether (d) at right angle to each other
21. What is the term for a liquid dispersion in another liquid?
/a«YEmulsion b) Aerosol
c) Gel d) Foam
22. More than one sort of hybridization can occur in a complex with gcometry
a) tetrahedral _byoctahedral X
c¢) trigonal bipyramidal d) square planar

23. Determine the proper name for K2[PdCl4].
a) Potassium tetrachlorinepalladium(II)
_b)Potassium tetrachloridopalladate(II)Potassium
™ " ¢) Potassium tetrachloridopalladium(II)
d) tetrachlorinepalladate(1I)
24. Which substance is used to determine the hardness of water using a simple titration?

a) Mg(EDTA) b) Fe(EDTA)
a2(EDTA) d) Co(EDTA)
25 The core atom of which of the following biologically significant coordination molecules is magnesium?
a) Vitamin B12 b) Haemoglobin
_cyChlorophyll d) Carboxypeptidase-A
26. What form does mtrogen take 1n plants?
a) Ammonia . b) Amide o
Sy Nitrate d) Nitrite er
27. What happens to the size of atoms in p-block elements when we move from left to rignt in the same peric
a) Size does not change b) Size increases then decreases
c) Size increases &) Size decreases i
28. When ammonia is oxidized to form nitric acid, what catalyst is used?
latinum-Rhodium gauze b) Vanadium (V) oxide N
c¢) Palladium hydride d) Sodium amalgam
) 29. Which of the following compounds has an oxidation state of +5 phosphorus‘?
eroxodiphosphoric acid b) Hypophosphorous acid
¢) Orthophosphorous acid d) Hypophosphoric acid
30. Why is nitrogen preferred in the welding and cooling of materials? ‘
tis an inert gas b) It is non-toxic
¢) It’s a gas and can easily be handled d) It has an g(@keme@)@cw fre\ m\ > \\\,
\\ -] A ‘Z\
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Q1. Value of log(1+x) j
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\(}}/1 ()0 (c) does not exist (d) none of these

I/n __ 2
Q2.1 Y =X HVIHX hep the value of (14x2)y2+xyl is
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7. A boat can travel with a speed of 13 km/hr in still water. If the speed of the stream is 4 km/hr, find the time taken
by the boat to go 68 km downstream. |

(a) 2 (b) 3 Seyd @5
8. A clock is started at noon. By 10 minutes past 5, the hour hand has turned through:  (a) 145° (b) 150° (c)

155" @y 760" A

9. In one hour, a boat goes 11 km/hr along the stream and 5 km/hr against the stream. The speed of the boat in still
water (in km/hr) is: .

(a) 3 (b8 (©5 (d)9

10. Which of the following is statement —

(a) Mathematics is easy (b) come here all real no are complex no. (d) he is an engineer. = ik

11.A ball moves in a frictionless inclined table without slipping. The work done by the table surface on the ball is

(a) Negative l}b)/Lero (c) Positive (d) None of the options  *__
12.The potential energy of a system increases if work is done
(a) upon the system by a non-conservative force My the system against a conservative force .

(c) by the system against a non-conservative force (d) upon the system by a conservative force

13.If a light body and heavy body have same kinetic energy, then which one has greater linear momentum? ~
(a) Lighter body Jb)’Heavier body (c) Both have same momentum (d) Can’t be predicted -
14.A light and a heavy body have equal momentum. Which one has greater KE.?
(9 The lighter body ~ (b) The heavier body () Both have cqual K.E. (@) Data given:is ficpinplets f
15.Unit of energy is
(a) kwh (b) joule (c) electron volt ,_(dj/A)ll of the above
16.Which of the following is not a conservative force?
(a) Gravitgtional force Mictional force (c) Spring force (d) None of these o
17.The speed of an object of mass m dropped from an inclined plane (frictionless), at the bottom of the »

plane, depends-on:

_@/I‘Qight of the plane above the ground (b) angle of inclination of the plane
(c) mass of the object (d) All of these

18.A body projected vertically from the earth reaches a height equal to earth's radius before returning to the earth.
The power exerted by the gravitational force is greatest

_(}J/a\t the instant just before the body hits the earth (b) at the highest position of the body



™
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* (c) it remains constant all through ' (d) at the instant just after the body is projected.

19.If two particles are brought near one another, the potential energy of the system will
%crease (b)decrease (c) remains the same (d) equal tothe KE. 1~

20.When two spheres of equal masses undergo perfect inelastic collision with one of them at rest, after collision
they will move

s
(a) opposite to one another (b) in the same direction ‘/(,eﬂogether (d) at right angle to each other

21. What is the term for a liquid dispersion in another liquid?

mulsion b) Aerosol
c) Gel d) Foam
22. More than one sort of hybridization can occur in a complex with geometry.
a) tetrahedral /Hf octahedral A
¢) trigonal bipyramidal d) square planar

23. Determine the proper name for K2[PdCl4].

a)}otassium tetrachlorinepalladium(II)

b) Potassium tetrachloridopalladate(II)Potassium ~—

c¢) Potassium tetrachloridopalladium(II)

d) tetrachlorinepalladate(II)

24 Which substance is used to determine the hardness of water using a simple t1trat10n?

g(EDTA) b) Fe(EDTA) "
Na2(EDTA) d) Co(EDTA) o

25. The core atom of which of the following biologically significant coordination molecules is magnesium?
a) Vitamin B12 b) Haemoglobin "
})’Chlorophyll d) Carboxypeptidase-A
26. What form does nitrogen take in plants?
a) Ammonia b) Amide "

itrate d) Nitrite .
27. What happens to the size of atoms in p-block elements when we move from left to right in the same period
a) Size does not change b) Size increases then decreases
c) Size increases _d)Size decreases .
28. When ammonia is oxidized to form nitric acid, what catalyst is used?

latinum-Rhodium gauze b) Vanadium (V) oxide \
c¢) Palladium hydride d) Sodium amalgam & \
29. Which of the following compounds has an oxidation state of +5 phosphc.n'us? = \?f/
yperoxodiphosphoric acid b) Hypophosphorpus ??.Cld “ TJ.J
¢) Orthophosphorous acid d) Hypophosphoric acid e \. O (o0
30. Why is nitrogen preferred in the welding and cooling of matena%\‘? g F&%@» o ‘Cx
a) It is an inert gas b) It is non- Cb 95:3“ \/’ AN :\50"'

t’s a gas and can easily be handled d) It has w freezing point %ﬁn\ oo
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lim tan x
Q1. Value of log(1+x) {5 c )\
(a) 1 jb)‘ 0 (c) does not exist (d) none of these

I/n __ 2
Q2. 1f ¥ =X+VI+X" then the value of (1+x2)y2+xyl is

t

_(/a)/ﬁ2y (b) ny2 (c )n2y2 (d) none of these .
Q5.1 XY =5 then at
& 4 & &
(@) x=0,y=0, &=0 (b)x=0,y=1, &=0 (yx=l,y=1, &=1  (x=1,y=0, dx =]
&

Q4. If sin (x+y) = log (x+y) then dx is

(a)2 (b)-2 ©1 I S
5. The probability that the 13th day of a randomly chosen month is second Saturday is b

- ‘1‘ _
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7. A boat can travel with a speed of 13 km/hr in still water. If the speed of the stream is 4 km/hr, find the time taken
by the boat to go 68 km downstream.

(a) 2 (b) 3 _(}‘/4 (d)5

8. A clock is started at noon. By 10 minutes past 5, the hour hand has turned through: (a) 145 (b) 150 \9,
155° (@1 60’ .

9. In one hour, a boat goes 11 km/hr along the stream and 5 km/hr against the stream. The speed of the boat in still
water (in km/hr) is: , -

(a) 3 M (c)5 (d)9 —

10. Which of the following is statement —

(a) Mathematics is easy (b) come here (cyall real no are complex no. (d) he is an engineer. .

11.A ball moves in a frictionless inclined table without slipping. The work done by the table surface on the ball is

=
—

(a) Negative ‘Q)/Zero (c) Positive (d) None of the options  \—

12.The potential energy of a system increases if work is done

(a) upon the system by a non-conservative force Jb}/by the system against a conservative force .
(c) by the system against a non-conservative force (d) upon the system by a conservative force

13.If a light body and heavy body have same kinetic energy, then which one has greater linear momentum?
(a) Lighter body ﬁy)'}{eavier body (c) Both have same momentum (d) Can’t be predicted =
14.A light and a heavy body have equal momentum. Which one has greater K.E.? ’

_ }ar)’T he lighter body  (b) The heavier body (c) Both have equal K.E. (d) Data given i;Hincomplete
15.Unit of energy is

(a) kwh (b) joule (c) electron volt })fﬂll of the above

16.Which of the following is not a conservative force?

(a) Gravitational force (_l:,))/Pi‘ictionaI force (c) Spring force (d) None of these

17.The speed of an object of mass m dropped from an inclined plane (frictionless), at the bottom of the

f—
plane, depends on:

th’eight of the plane above the ground (b) angle of inclination of the plane A___
(c) mass of the object (d) All of these

18.A body projected vertically from the earth reaches a height equal to earth's radius before returning to the earth.
The power exerted by the gravitational force is greatest

.
.(}Xét the instant just before the body hits the earth (b) at the highest position of the body



¥

(c) it remains constant all through (d) at the instant just after the body is projected.

19.If two particles are brought near one another, the potential energy of the system will

’(yjncrease (b)decrease (c) remains the same (d) equal to the KE.

20.When two spheres of equal masses undergo perfect inelastic collision with one of them at rest, after colhslon
they will move >

PR

(a) opposite to one another (b) in the same direction },(‘J’Iogether (d) at right angle to each other

21, What is the term for a liquid dispersion in another liquid?

Emulsion b) Aerosol —
c) Gel d) Foam
22. More than one sort of hybridization can occur in a complex with geometry.
a) tetrahedral _byoctahedral \
c) trigonal bipyramidal d) square planar

23. Determine the proper name for K2[PdCl4].

a) Potassium tetrachlorinepalladium(II)

b)Potassium tetrachloridopalladate(II)Potassium

¢) Potassium tetrachloridopalladium(II)

d) tetrachlorinepalladate(II)

24. Which substance is used to determine the hardness of water using a simple titration?

a) Mg(EDTA) b) Fe(EDTA)
¢)yNa2(EDTA) d) Co(EDTA) (
25. The core atom of which of the following biologically significant coordination molecules is magnesium?
a) Vitamin B12 b) Haemoglobin
/(2 ‘Chlorophyll d) Carboxypeptidase-A
26. What form does nitrogen take in piants?
a) Ammonia b) Amide
Nitrate d) Nitrite
27 What happens to the size of atoms in p-block elements when we move from left to right in the same periud
a) Size does not change b) Size increases then decreases _ B
¢) Size increases _dySize decreases X . ;‘
28. When ammonia is oxidized to form nitric acid, what catalyst is used?
a) Platinum-Rhodium gauze _byVanadium (V) oxide \ i
2 - & )
¢) Palladium hydride d) Sodium amalgam 7~ \r A o
29. Which of the following compounds has an oxidation state of +% sphorus"’ J R o “(._‘“q:_ .;o"le’
a)Peroxodiphosphoric acid b) Hw@bh@}ﬂ" rous acid AV Y‘E\X\‘* U\\-a""“
¢) Orthophosphorous acid d) Hypophosphoric acid - ©w )
30, Why is nitrogen preferred in the welding and cooli g0k ri&nf;\ls‘? X O
/a’)’ It is an inert gas @ﬁ- n-toxic : . o R
¢) It’s a gas and can easily be handled & © d) It Has an extremely low freezing point
0“696(\( 3 C
end" %
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ik tan x

>0
log(1 +x) ;
- Q1. Value of is _—
NE! (b)0 (c) does not exist (d) none of these
\in 2
Q2.If Y =X+ 14X {hen the value of (1+x2)y2+xyl is e
[ayn2y (b) ny2 (c )n2y2 (d) none of these

cOs ¥

Q3.1f ¥ *+Y =5 thenat

&

i 4 &

-
(@) x=0,y=0, =0 (b)x=0,y=1, F=0 \(x=Ly=l, F=1  @x=1,y=0, &=l
Q i"‘.
Q4. If sin (x+y) = log (x+y) then dx is \ - f»}
' o
— oS L L%
(a2 (b)-2 ©! (T fv ST
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7. A boat can travel with a speed of 13 km/hr in still water. If the speed of the stream is 4 km/hr, find the time taken
by the boat to go 68 km downstream.

(a) 2 (®)3 (4 s
8. A clock is started at noon. By 10 minutes past 5, the hour hand has turned through: (a) 145 (b) 150 }
155° (d) 160" \

9. In one hour, a boat goes 11 kmfhr along the stream and 5 km/hr against the stream. The speed of the boat in still
water (in km/hr) is:

(a) 3 8 ()5 (@9

10. Which of the following is statement —

(a) Mathematics is easy (b) come here (Q,alﬁeal no are complex no. (d) he is an engineer.

11.A ball moves in a frictionless inclined table without slipping. The work done by the table surface on the ball is

F A ;
(a) Negative (by Zero (c) Positive (d) None of the options .~
12.The potential energy of a system increases if work is done
¥
(a) upon the system by a non-conservative force Lgb)’fythe system against a conservative force

(c) by the system against a non-conservative force (d) upon the system by a conservative force
13.If a light body and heavy body have same kinetic energy, then which one has greater linear momentum?
(a) Lighter body @)/Héavier body (c) Both have same momentum (d) Can’t be predicted o
14.A light and a heavy body have equal momentum. Which one has greater K.E.? ‘

N i

.(a)The lighter body  (b) The heavier body (c) Both have equal K.E. (d) Data given is incomplete

15.Unit of energy is
(a) kwh (b) joule (c) electron volt (&) All of the above
16.Which of the following is not a conservative force?
L . ]

(a) Gravitational force (h) Frictional force (c) Spring force (d) None of these

17.The speed of an object of mass m dropped from an inclined plane (frictionless), at the bottom of the
plane, depends on: :

(a)Height of the plane above the ground (b) angle of inclination of the plane ‘-
R
(c) mass of the object (d) All of these
18.A body projected vertically from the earth reaches a height equal to earth's radius before returning to lhe/earth.
The power exerted by the gravitational force is greatest ~

|

(a) 'é’i:the instant just before the body hits the earth (b) at the highest position of the body



+ (c) it remains constant all through

(d) at the instant just after the body is projected.

19.If two particles are brought near one another, the potential energy of the system will

Jg/}’]fcrease

(b)decrease

(c) remains the same

(d) equal to the K.E. [

20.When two spheres of equal masses undergo perfect inelastic collision with one of them at rest, after 001115101'1

they will move

(a) opposite to one another

(b) in the same direction

B

[(c)together  (d) at right angle to each other

21. What is the term for a liquid dispersion in another liquid?

.ayEmulsion
c) Gel

b) Aerosol S
d) Foam

22. More than one sort of hybridization can occur in a complex with geometry.

-‘ a) tetrahedral
¢) trigonal bipyramidal
23. Determine the proper name for K2[PdCl4].
a) Potassium tetrachlorinepalladium(II)
. b)Potassium tetrachloridopalladate(II)Potassium

_b)octahedral

d) square planar

™ ¢) Potassium tetrachloridopalladium(II) e
. d) tetrachlorinepalladate(II)
24. Which substance is used to determine the hardness of water using a simple titration?
a) Mg(EDTA) b) Fe(EDTA) '
)y Na2(EDTA) d) Co(EDTA) —
25. The core atom of which of the following biologically significant coordination molecules is magnesium?
a) Vitamin B12 b) Haemoglobin "
+¢) Chlorophyll d) Carboxypeptidase-A
26. What form does nitrogen take in plants?
a) Ammonia b) Amide _
) Nitrate d) Nitrite e
27. What happens to the size of atoms in p-block elements when we move from left to right in the same period’
a) Size does not change b) Size increases then decreases
c) Size increases ) Size decreases .
28. When ammonia is oxidized to form nitric acid, what catalyst is used?_
. a)Platinum-Rhodium gauze b) Vanadium (V) oxide g
¢) Palladium hydride d) Sodium amalgam i ,\
m |

a) Peroxodiphosphoric acid
¢) Orthophosphorous acid

30. Why is nitrogen preferred in the welding and coohng of mate%gls?

a) Itis an inert gas
¢) It’s a gas and can easily be handled

29. Which of the following compounds has an oxidation state of +5 phosphorus?
by Hypophosphorous acid

d) Hypophosphoric acid

b)Itisn ~— ”e‘ﬁsg\- o2 4N
d) It ha¥’ ty low freezing pomtg <5 ’»,\\.\ o
: > B o
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>
{’ \

ci';}ﬁfifj )
‘{_\“e, O\






Pushplata Scholarship Scheme

Qualifying Examination P Time: - 2 Hrs

.,-‘ L "4 ey
o 1 ¢

Admission Year — (2021-22)
Name of Applicant: - 4/@ A%L )tam vt
Father’s Name: - ..\A 2{*‘1 : Kél maoJy

Branch (to be opted):- ( e

Note:- Attempt all Questions. Each question is of 1 mark.

lim tan x
Q1. Value of log(1+x) j
m -
(b)) 0 (c) does not exist (d) none of these

Wn __ 2
Q2. 1f ¥ =X *+VI+X" hen the value of (1+x2)y2+xyl is

n2y (b) ny2 (c)n2y2 (d) none of these k"
Q3.1f X V=5 thenat _
Q A — f}’_ S
(a) x=0,y=0, &=0  (b)x=0,y=1, & =0 M)FI, dx =} (d) x=1, y=0, dx=1
dy

Q4. If sin (x+y) = log (x+y) then dx js

()2 (b)-2 (©)1 i -

5. The probability that the 13th day of a randomly chosen month is second Saturday is .

fa.\‘)‘ LA
1 1 ‘:’)\‘ﬂ, ‘F\

1
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7. A boat can travel with a speed of 13 km/hr in still water. If the speed of the stream is 4 km/hr, find the time }aken
by the boat to go 68 km downstream.

(a) 2 ®3 @ (@5
\/8% clock is started at noon. By 10 minutes past 5, the hour hand has turned through:  (a) 145" 1) 150 (¢
55° (d) 160° e

9. In one hour, a boat goes 11 km/hr along the stream and 5 km/hr against the stream. The speed of the boat in still
water (in km/hr) is:

@3 _mf  ©5 @9

10. Which of the following is statement —

(a) Mathematics is easy (b) come here\(p)é{re’al no are complex no. (d) he is an engineer. -\ F
11.A ball moves in a frictionless inclined table without slipping. The work done by the table surface on the ball is

B

(a) Negative \_@Zé’o (c) Positive (d) None of the options \

12.The potential energy of a system increases if work is done :
(a) upon the system by a non-conservative force \_,(b)’gthe system against a conservativgg;ce

(c) by the system against a non-conservative force (d) upon the system by a conservative force

13.If a light body and heavy body have same kinetic energy, then which one has greater linear momentum? _ <

(a) Lighter body \}b{@vier body (¢c) Both have same momentum (d) Can’t be predicted

14.A light and a heavy body-have equal momentum. Which one has greater K.E.?

e
\y’l{e lighter body  (b) The heavier body (¢) Both have equal K.E. (d) Data given is incomplete
15.Unit of energy is
(a) kwh (b) joule (c) electron volt \}g,)ﬂﬁ' of the above ~__

16.Which of the following is not a conservative force?

(a) Gravitational force Mictional force (c) Spring force (d) None of these
17.The speed of an object of mass m dropped from an inclined plane (frictionless), at the bottom of the ,
plane, depends on: _ . -
v(/n. o
4) height of the plane above the ground (b) angle of inclination of the plane
(c) mass of the object (d) All of these

18.A body projected vertically from the earth reaches a height equal to earth's radius before returning to the earth.
The power exerted by the gravitational force is greatest

\W instant just before the body hits the earth (b) at the highest position of the body “~—



"« (c) it remains constant all through

(d) at the instant just after the body is projected.

19.If two particles are brought near one another, the potential energy of the system will

\Mase (b)decrease

20.When two spheres of equal masses undergo perfect inelastic collision with one of them at rest, after collision

they will move

Wshe to one another

(c) remains the same

(d) equal to the K.E.

I

(b) in the same direction (c) together  (d) at right angle to each other

\/S;IKWhat is the term for a liquid dispersion in another liquid?

Emulsion
¢) Gel

22. More than one sort of hybridization can occur i

a) tetrahedral
c) trigonal bipyramidal

23. Determine the proper name for K2[PdCI4].
a) Potassium tetrachlorinepalladium(II)
Potassium tetrachloridopalladate(II)Potassium
7™ c) Potassium tetrachloridopalladium(II)

d) tetrachlorinepalladate(II)

b) Aerosol
d) Foam

in a complex with geometry.
‘-—b')éiﬁedral .

d) square planar o

\\_7 . o8

-

24. Which substance is used to determine the hardness of water using a simple titration?

a) Mg(EDTA)
<) Na2(EDTA)

25. The core atom of which of the following biologically significant coordination molecules is magnesium?

a) Vitamin B12
hlorophyll

26. what form does nitrogen take in plants?

a) Ammonia
itrate

27. What happens to the size of atoms in p-block elements when we move from left to right in the same period?

a) Size does not change
c¢) Size increases

b) Fe(EDTA)
d) Co(EDTA) W

b) Haemoglobin .
d) Carboxypeptidase-A

b) Amide )
d) Nitrite e

'b) Size increases then decreases

~—d)Size decreases

hen ammonia is oxidized to form nitric acid, what catalyst is used?

latinum-Rhodium gauze
¢) Palladium hydride

b) Vanadium (V) oxide A_
d) Sodium amalgam

@ 29. Which of the following compounds has an oxidation state of +5 phosphorus?

eroxodiphosphoric acid
¢) Orthophosphorous acid

30. is nitrogen preferred in the welding and cooling of mateng\ls
tis an inert gas b) It is non, :

¢) It’s a gas and can easily be handled

b) Hypophosphorous acid ]
d) Hypophosphoric acnd\?ge \
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